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10.

11.

12.

13.

14.

15.

Calculate / tanz dx.

rx—1
xi41

Use the logarithmic differentiation to find the derivative of the function y =

6
1
Calculate / dz.
. rlnx

Differentiate the function y = In |2 — z — 527|.

Find ¢/ if y = e **sin 5z.
2 el
Evaluate the integral / — dzx.
LT

1
Calculate / (¢ +€") dx.
0

Find ' if ev = z — y and y is differentiable function of z.
Differentiate y = V.

Calculate / bg_mx dz.

X

Calculate / 3T cos x da.

ta —
Find lim 2t =%

z—0 x?’

Compute lim sinxlnz.
z—0t

Compute lim zVZ.

z—0t

Compute lim (secx — tanx).
=5
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1 In|secx| + C 6.2* — Bl 13

r—1 1 43

2 ' = — 6.2 — H 4 63
Y Vx4—|—1<2(35—1) 2(g;4+1)> 0

3 In(In 6) 6.2 — HA 70

_1 — 101’ * PR

5 y = —4e " sin5x 4 5e** cos 5x 6.3* — # 5

6 | e—e? 6.3* — B4 93

7 e+1+6_1 6.3* — H A 83

2 z
] y’:w 6.3* — ¥ 2 55
]
1
9 .flff (Fln$+7> 6.4* — 5']7%4
1 (Inx)? ;

10 — 4 C 4* — B84
mio 2 047 —mR AT
3sinx

I 1= +C 6.4 — A 49
1 24

12 3 6.8 — 1978 4

13 1 0 8 — HA 44

14 1 6.8 — HRE 57

15 1 0 6.8 — 19|78 8
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